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When | was young, | could not believe that proving something exists

bv-showing that | d : I ke When Italked

to math professors, they thought | was a Loony Tune. Then | got to

Constable and he said it was a trick, and | wanted to hug him!

Some people think, the real axiom of choice is the one where there is

a double negation, and you postulate it exists. This is true, but it's outrageous,
I | hol ) : I i< tl hi .5

pulling a function out of thin air ruins the whole thing!

1 . ivist. | " I f classical | o
| just have to reinterpret what you're saying which is weaker. | just have to

hear "there cannot faiI to exist a group with that property." So you could

systematlcally I always have a constructively vaI|d argument. But you're

giving up information that you didn' t need to give up. Constructlve view Is

then I Iose a Iot (Double negat|on is reIated to GOTO in programmlng Ianguages )
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Shouldn't A and B already be definitionally equal?

calculation. Judgmental equality is no longer

eq) O+% =n N



